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INSTRUCTIONS: Answer the following questions in the spaces provided below.
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If det(A) = —5, what is the value of 257
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1. Consider the equation Ax = b, where A = { 2
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2. LetA=1|3 (2 3 | . Suppose that det(A) = —4. A D@ (V]
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What is the entty in row 2, column 3, of A71?
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3. Consider the vectors u = (3,-1,2,~1), v=(2,-1,0,2), and w = (-3, -2, -1,1).

Find:
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(b) A unit vector in the direction of v.

D wds LAUFE&WVMQ

—1 .
3(2—/’I O'Z/\ &(Bg E/O/3>

(¢) dlu+w,v) H(_U\ "'U\)\ \/
= (®,0,3,0) | = W :ﬁ?
(d) u-v.
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